(000O0000o)

00000000000 -000000000000000mO00000000000
000000000 wO0O00000000000000000000000000000
000000000000000000000000000000000000 ¢y0000

. D0000000000000000000600000000 00000000
000000 F,000000000000000000
2.000000000000000000000000
3.00000000 F,0 m,r,u,0,¢0 00000000000
4.000000000000000000000000000000O0

(ooo)

1. mooogbooooooobbuoobbbbugoboooobobuogoogn
gbouboobbbodobodooog

2

0Om— = F, —mgcosé. (1)
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vag = imv2 + mgr(1 — cos ). (2)
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mv? = rF, —mgr cos?. (3)
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S = Q(TFR — mgr cos ) + mgr(1l — cos0)
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= éan + mgr — 5Myg cos 6. (4)
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F, =m-2 + 3mg cos® — 2myg. (5)
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